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M AMUD orNME DNESHA XA
Selr 24AY X (St
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N ESmE=n} 63,257,850 58,754,850 4,503,000
2 9,147,500 5,769,500 3,378,000
=2 300,000 300,000 0
[ 4,008,844 4,008,844 0
Al 49,801,506 48,676,506 1,125,000
EAMQUAD OHEE NEBH X4 63,174,378 58,671,378 4,503,000
=2 9,147,500 5,769,500 3,378,000
= 300,000 300,000 0
[ 4,008,844 4,008,844 0
Al 49,718,034 48,593,034 1,125,000
A N 62,967,650 58,464,650 4,503,000
2 9,147,500 5,769,500 3,378,000
= 300,000 300,000 0
(= 4,008,844 4,008,844 0
Al 49,511,306 48,386,306 1,125,000
AU - DISHA JIAF SHAIX 2,280,000 0 2,280,000
2 2,280,000 0 2,280,000
302 Ol F=LMGHE A2 2,280,000 0 2,280,000
2 2,280,000 0 2,280,000
2oL =ERES2S A3 2,280,000 0 2,280,000
OAUW - OFEHA JIAF SHAIRIR (HEA)
2,280,000,000& 2,280,000 0 2,280,000
2 2,280,000 0 2,280,000
HAMBIAIIAL ASQHETIZ X 240,000 0 240,000
2 240,000 0 240,000
302 Ol =L E A2 240,000 0 240,000
2 240,000 0 240,000
2ot =R s2 A= 240,000 0 240,000
OFNHAIIA ASHAETIZ N (HSA)
240,000,000 240,000 0 240,000
2 240,000 0 240,000
5XF LBFEHAID|AF BHAI X & 858,000 0 858,000
2 858,000 0 858,000
302 O =LTHGHE & 2 858,000 0 858,000
2 858,000 0 858,000
Q2oL ERES2 A3 858,000 0 858,000
ObXt LBFEHAI DAL BHAI KR (MBI M)
858,000,000 858,000 0 858,000
2 858,000 0 858,000
HA - HOIEHA] JIAb ASOHAETIZ X & 1,125,000 0 1,125,000
307 @I2+0l & 1,125,000 0 1,125,000
09 2LAHEX2 1,125,000 0 1,125,000
OHA - BOIEHAl DAL ASOEIZ X 1,125,000 0 1,125,000
—CHHAIA ASHETZ2 XY
500,000%! *1,600 800,000 0 800,000
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